
1. Sara collects 7 five pence coins. She uses them to buy a doll 
for 32 pence.
How much does Sara has left? 

2. Complete these fractions so that they are equivalent.
1   
2      =       4

Reasoning

Grammar and punctuations

5. Emma has 30 raisins. She gives half raisins to Ben.
She also gives 5 raisins to Sara. 
How many raisins does Emma has left?
Show your working.

55          +         4    =    79

49       - 18   =   23 

16  +  8   +    13   =  

49   - 19   - 10   =  

⅓  of  36   = 

½  of  42   =  

2    X                 =  22  

÷ 3   =   7

Spellings

Arithmetic

1. Donkey
2. Some
3. Smiling
4. Hatch
5. Wait

1. Why do the words underline below, start with capital 
letters?

On Friday evening, Ben and his family went on holiday to 
Paris.

_________________________________________.

2. Draw lines to match each word to the suffix 
needed to make it plural.

www.themumeducates.com

3. Here are two jugs containing juice.
How much juice each jug has?

Can you tell which jug is containing less juice?

4. Write number 45 in words.

Fox

Church

Basket

Hen

s

es

Jug BJug A


